A STUDY ON CASH ESTIMATION PRACTICES OF NEPAL DRUGS LIMITED



SUBMITTED BY:

Kumari Lama

Shanker Dev Campus Roll No: 867/060 T.U. Regd. No.: 7-1-274-277-98



SUBMITTED TO: Office of the Dean Faculty of Management Tribhuvan University

In partial fulfillment of the requirement for the degree of Master of Business Studies (M.B.S)

Putalisadak, Kathmandu

July 2009

Tribhuvan University

Faculty of Management

Shanker Dev Campus

Putali Sadak Kathmandu Nepal

Ref.:

Date:

RECOMMENDATION

This is to certify that the thesis

Submitted by: Kumari Lama

Entitled "A Study on Cash Estimation Practices of Nepal Drugs Limited"

has been prepared as approved by this department in the prescribed format of Faculty of Management. This thesis is forwarded for examination.

.....

Yamesh Man Singh (Thesis Supervisor) Prof. Dr.Kamal Deep Dhakal (Campus Chief)

.....

Tribhuvan University

Faculty of Management

Shanker Dev Campus

Putali Sadak Kathmandu Nepal

Ref.:

Date:

VIVA- VOCE SHEET

We have conducted viva-voce examination of the thesis presented

By: KUMARI LAMA

Entitled

"A Study on Cash Estimation Practices of Nepal Drugs Limited"

and found the thesis to be the original work of the student and written according to the prescribed format. We recommend the thesis to be accepted as partial fulfillment of the requirement for the degree of **Master of Business Studies (MBS)**

Viva - voce Committee

Head, Research Department	•••••
Member (Thesis Supervisor)	•••••
Member (Thesis Supervisor)	•••••
Member (External Expert)	•••••

DECLARATION

I hereby declare that the work reported in this thesis entitled "A Study on Cash Estimation Practices of Nepal Drugs Limited" submitted to the Office Of the Dean, Faculty of Management, Tribhuvan University, is my original work done in the form of partial fulfillment of the requirement of the degree of Master of Business Studies (MBS) prepared under the supervision of Mr.Yamesh Man Singh Reader of Shanker Dev Campus..

> Kumari Lama Researcher TU Reg. No. 7-1-274-277-98 Campus Roll No.867/060

ACKNOWLEDGEMENT

The present study **''A Study on Cash Estimation Practices of Nepal Drugs Limited''** has been prepared and submitted to faculty of management as a partial requirement of the degree of Master of Business Studies (MBS).

I would like to express my in-depth gratitude to Mr.Yamesh Man Singh, Lecturer of Shanker Dev Campus. I would like to express my sincere gratitude to Mr. Samir Bajracharya, staff of Nepal Drugs Limited for his enthusiastic support and encouragements in collection of data.

I would like to express hearty thanks towards all the members of my family who provided regular inspiration and continuous contribution for my success. I would like to express my hearty thanks towards Gita Lama, Indira Lama, and Yashoda K.C. for advising me in my whole research work.

> Kumari Lama July2009

ABBREVIATIONS

A/C	Account
A/R	Account Receivable
C.V.	Coefficient Variation
DDA	Department of Drugs Administration
FY	Fiscal Year
GDP	Gross Domestic Product
NDL	Nepal Drugs Limited
NDP	Nepal Drugs Policy
NPAT	Net Profit After Tax
ОН	Overhead
P.E.	Probable Error

List of Tables

Title	<u>}</u>	Page.	No
1.	Number of registered pharmacy outlets		3
2.	Domestic drugs industries in operation		4
3.	Product recalled from market		4
4.	Permission for advertisement of medicine according		
	to clause 19 of drugs Act, 1978 and annex 11 of drugs		
	registration regulation 2040		4
5.	Marketing permission granted to Nepalese pharmaceutical	1	
	products		4
6.	Production Achievement		8
7.	Sales Achievement		8
8.	Analysis of cash and bank balance		43
9.	Analysis of cash turnover ratio		45
10.	Analysis of current ratio		47
11.	Analysis of quick ratio		49
12.	Analysis of receivables turnover ratio		51
13.	Analysis of inventory turnover ratio		53
14.	Analysis of cash and bank balance to account receivables		54
15.	Analysis of cash and bank balance to current assets		56
16.	Analysis of cash and bank balance to current liabilities		57
17.	Analysis of net profit margin ratio		59
18.	Analysis of net profit after tax to quick assets		59
19.	Analysis of dispersion in cash and bank balance		60
20.	Fitting the straight line trend by least square method for		
	variations in cash balance		62
21.	Analysis of Karl Pearson's coefficient of correlation		
	between sales and cash balance		64
22.	Analysis of Karl Pearson's coefficient of correlation		
	between account receivables and cash balance		67

23.	Analysis of Karl Pearson's coefficient of correlation	
	between current assets and cash balance	71
24.	Analysis of Karl Pearson's coefficient of correlation	
	between current liabilities and cash balance	73
25.	Analysis of Karl Pearson's coefficient of correlation	
	between net profit after tax and cash balance	75
26.	Trend Analysis of cash & bank balances	77
27.	Trend Analysis of current assets	78
28.	Trend Analysis of current liabilities	79
29.	Trend Analysis of sales	80
30.	Cash flow statement	82
31.	Analysis of approved budget and expenses	84
32.	Analysis of respondent answer	86

List of Figures

1.	Determination of optimum cash balance	16
2.	Optimum cash balance under certainty	17
3.	Optimum cash balance under uncertainty	18
4.	Cash and bank balance	44
5.	Cash turnover ratio	46
6.	Trend line showing current assets	48
7.	Trend line showing quick assets	50
8.	Pie chart showing receivable turnover ratio	52
9.	Pie chart showing inventory turnover ratio	53
10.	Cash and bank balance	55
11.	Cash and bank balance to current assets	57
12.	Cash and bank balance to current liabilities	58
13.	Trend line for variation in cash & bank balance	63
14.	Trend line showing trend value & actual value of cash &	
	bank balance	77
15.	Trend line showing trend value & actual value of	
	current assets	78
16.	Trend line showing trend value & actual value of	
	current liabilities	79
17.	Trend line showing trend value & actual value of	
	Sales	80

Title

TABLE OF CONTENTS

-

• •

	Page. No
Recommendation	Ι
Viva-Voce Sheet	II
Declaration	III
Acknowledgement	IV
List of Tables List of Figures	V VI
Abbreviation	VI VII
CHAPTER-1	1-12
INTRODUCTION	
1.1 Nepalese Economy	1
1.2 Introduction of Nepalese pharmaceutical enterprises	2
1.3Introduction to Nepal Drugs Limited	5
1.4 Statement of the problem	9
1.5 Objectives of the study	10
1.6 Limitation of the study	11
1.7 Organization of the study	12
CHAPTER-2	
REVIEW OF LITERATURE	13-31
2.1 Meaning of cash	13
2.2 Different techniques of cash management	14
2.3 Determining the optimum cash balance	16
2.3.1 Optimum cash balance under certainty;	
Baumol's Model	17
2.3.2 Optimum cash balance under uncertainty;	
The Miller-Orr Model	18
2.4 Review of Books	19
2.5 Review of Thesis/Dissertation	20
2.6 Research Gap	31

CHAPTER-3 RESEARCH METHODOLOGY

3.1 Research Design	32
3.2 The population and sample	32
3.3 Nature and source of data	32
3.4 Financial and statistical tools	33
1. Financial Ratio Analysis	
a. Cash Turnover	33
b.Current Ratio	34
c.Quick Ratio	34
d.Receivable Turnover Ratio	35
e.Inventory Turnover Ratio	35
f.Cash & Bank Balance to Account Receivable	36
g. Cash & Bank Balance to Current Assets	36
h. Cash & Bank Balance to Current Liabilities	36
i. Net Profit Margin Ratio	37
j.Net Profit after tax to Quick Assets Ratio	37
2. Statistical Tools	
A. Standard Deviation	38
B.The Least Square Method	38
C.Karl Pearson's Coefficient Correlation	39
D.Regression Analysis	42

CHAPTER-4

DATA PRESENTATION AND ANALYSIS	43-90
4.1. Analysis of cash and bank balance	43
4.2 Analysis of cash turnover ratio	44
4.3 Analysis of current ratio	46
4.4 Analysis of quick ratio	47
4.5 Analysis of receivables turnover ratio	48
4.6 Analysis of inventory turnover ratio	50
4.7 Analysis of cash and bank balance to account receivable	52

4.8 Analysis of cash and bank balance to current assets	53
4.9 Analysis of cash and bank balance to current liabilities	55
4.10 Analysis of net profit margin ratio	56
4.11 Analysis of net profit after tax to quick assets	57
4.12 Analysis of dispersion in cash and bank balance	58
4.13 Fitting the straight line trend by least square method for	
Variations in cash and bank balance	59
4.14 (A) Analysis of Karl Pearson's coefficient of correlation	61
between sales and cash balance	
4.14 (B) Regression analysis	63
4.15 (A) Analysis of Karl Pearson's coefficient of correlation	
between account receivables and cash balance	65
4.15 (B) Regression analysis	67
4.16 Analysis of Karl Pearson's coefficient of correlation	
between current assets and cash balance	68
4.17 Analysis of Karl Pearson's coefficient of correlation	
between current liabilities and cash balance	70
4.18 Analysis of Karl Pearson's coefficient of correlation	
between net profit after tax and cash balance	71
4.19 (C) Trend Analysis	73
4.19.1 Trend analysis of cash and bank balance	74
4.19.2 Trend analysis of current assets	75
4.19.3 Trend analysis of current liabilities	76
4.19.4 Trend analysis of sales	76
4.20 Analysis of cash flow statement	78
4.20.1 Analysis of operating activities	78
4.20.2 Analysis of investing activities	78
4.20.3 Analysis of financing activities	79
4.21 Analysis of cash budgeting practices of NDL	80
4.21.1 Analysis of approved current asset investment budget	81
4.22 Analysis of primary information collected through questionnaire	83

4.23 Major Findings

4.23.1 Overall cash management	86
4.23.2 Liquidity position	88
4.23.3 Cash flow statement	89
4.23.4 Cash budgeting practice	90
4.23.5 Issues and constraints	90

CHAPTER-5

SUMMARY, CONCLUSION AND	RECOMMENDATION	91-94
5.1 Summary		91
5.2 Conclusion		93
5.3 Recommendation		94

Bibliography Appendix

BIBLIOGRAPHY

A. Books

-) Charles, J. Woeful (1999). *Encyclopedia of Banking and finance*. Singapore: Irwin Publication.
-) Chaudhary, Arun Kumar and Pant, G.D.(2053), '*Statistical Methods for MBS, MBA.Kathmandu*; Nepal Sahitya Prakashan Kendra.
-) Dhangol,Ratna Man, (2061), '*Cost and Accounting Management*'; Taleju Prakashan.
-) Fred, J.and Copeland, C. (2004).*Managerial Finance:* Harcourt Brace Journo rich College.
- *Khan, M.Y and Jain, P.K (1986) Financial Management:* Tata McGraw –Hill Publishing Company Limited.
- Levin and Rubin (2002).*Statistical for management:* New Delhi
 Prentice Hall of India.
-) Munankarmi, Shiva Prasad, (2003), 'Accounting for Financial Analysis and Planning'; Educational Publishing House.
- Pandey, I.M.(1999), Financial Management: Vikas Publishing House Pvt.Ltd.
- Van Horne, James.C. (1974). Corporate Financial Management: New Delhi Prentice Hall of India Pvt.Ltd.
-) Weston,J.F. and Copland,(1992)T.E. '*Managerial Finance*', USA; A Harcourt Brace Jovanovich College Publisher.
- Wolff, Howard K. and Pant, P.R, (2002). Social Science Research

and Thesis Writing: Kathmandu: Buddha Academic Enterprises Pvt.Ltd.

B. Unpublished Master Level Thesis

- Bajracharya, Jyoti (2007), 'Cash Management in the context of Gorkha Ayurved Company Pvt. Ltd.'Kathmandu: An unpublished Master's Degree Thesis, Central Department of Management, T.U.
- Dhakal,Govinda (2008), 'A study on Inventory Management and Control of Royal Drugs Limited' 'Kathmandu: An unpublished Master's Degree Thesis, Central Department of Management, T.U.
- Dhungana Pooja, (2009), 'A Case Study of Cash management of Nepal Electricity Authority' 'Kathmandu: An unpublished Master's Degree Thesis, Central Department of Management, T.U.
- J Kunwar, Naresh (2004), "A Study on Working Capital Management of Pharmaceutical Industry of Nepal with Special Reference to Royal Drugs Limited". Kathmandu: An unpublished Master's Degree Thesis, Central Department of Management, T.U.
- Neupane, Kiran (2005),"A Study of Cash Management in Nepalese Public Enterprises, a case study of Salt Trading Corporation Limited". Kathmandu: An unpublished Master's Degree Thesis, Central Department of Management, T.U.

- Pradhan, B (2006), "A Study of Cash Management of Salt Trading Corporation Limited". An unpublished MBA Thesis
- Sainju, Sabin Prakash (2003), "Cash Management in Nepalese Public Enterprises, A case study of Royal Drugs Limited".
 Kathmandu: An unpublished Master's Degree Thesis, Central Department of Management, T.U.

C.Magazines/Reports/Journals

- Baumol, W.J.(1952).*The transaction demand for cash:* an Inventory theoretic approach quarterly journal of economic LXV
-) Bajaracharya, R.R. (2047). *Astray Banijya Bank: A Comparative Performance Study*. Kathmandu: Rajat Jayanti Smarika.
- Dhungana, Bhishma Raj (2053). *Problem encountered by the Nepalese Financial System*. Kathmandu: NRB Samachar.
- Drug Bulletins of Nepal.(2004,2005,2006,2007,2008)
- J H.M.G, Ministry of Finance Economic Survey (2005/2006),
-) Miller M.H. and Orr.D. (1966).*A Model of the demand for money In firms:* Quarterly Journal of Economic LXY.

D.Websites

www.drugbulletin.com www.google.com www.royaldrugsltd.com

Appendix I

			(Rs.	Million)	
Fiscal	(Y) Cash	Deviation from	XY	\mathbf{X}^2	
year	and Bank	(2060/61) (X)			
2057/58	3.79	-3	-11.37	9	
2058/59	4.50	-2	-9	4	
2059/60	2.94	-1	-2.94	1	
2060/61	3.76	0	0	0	
2061/62	44.69	1	44.69	1	
2062/63	4.67	2 9.34		4	
2063/64	3.97	3 11.91		9	
Total	∑Y=68.32	∑X=0	∑XY=42.63	$\Sigma X^2 = 28$	

Table -26 Trend Analysis of Cash and Balances

The equation of straight line trend is given by

 $Y_c = a + bx$

Here,
$$a X - \frac{Y}{N} X \frac{68.32}{7} X 9.76$$

 $b = -\frac{XY}{X^2} X \frac{42.63}{28} X 1.52$
 $Y_C = a + bx$
 $= 9.76 + 1.52 X$

When X=2065 Then, x=2065-2061=4 Now, 9.76+1.52X4=15.84 Again When X=2066 Then 2066-2061=5 Now, 9.76+1.52X5=17.36

Appendix II

			(Rs.	Million)
Fiscal	(Y) Current	Deviation from	XY	X^2
year	Assets	(2060/61) (X)	211	
2057/58	109.87	-3	-329.61	9
2058/59	94.24	-2	-188.48	4
2059/60	88.65	-1	-88.65	1
2060/61	99.85	0	0	0
2061/62	122.30	1 122.30		1
2062/63	74.90	2	149.80	4
2063/64	67.57	3	202.71	9
Total	∑Y=657.38	∑X=0	∑XY=-	$\Sigma X^2 = 28$
			131.93	

Table -27 Trend Analysis of Current Assets

The equation of straight line trend is given by

 $Y_c = a + bx$

Here,
$$a X - \frac{Y}{N} X \frac{657.38}{7} X93.91$$

 $b = -\frac{XY}{X^2} X \frac{Z131.93}{28} XZ4.71$
 $Y_C = a + bx$
 $= 93.91 + (-4.71) X$

Appendix III

			(Rs.	Million)	
Fiscal	(Y) Current	Deviation from	XY	\mathbf{X}^2	
year	Liabilities	(2060/61) (X)	A 1		
2057/58	42.57	-3	-127.71	9	
2058/59	42.83	-2	-85.66	4	
2059/60	101.45	-1	-101.45	1	
2060/61	116.83	0	0 0		
2061/62	86.21	1	1 86.21		
2062/63	75.70	2 151.40		4	
2063/64	69.84	3 209.52		9	
Total	∑Y=535.43	∑X=0	∑XY=132.31	$\Sigma X^2 = 28$	

Table -28 Trend Analysis of Current Liabilities

The equation of straight line trend is given by

 $Y_c = a + bx$

Here,
$$a X - \frac{Y}{N} X \frac{535.43}{7} X76.49$$

 $b = -\frac{XY}{X^2} X \frac{132.31}{28} X4.72$

 $Y_C = a + bx$ = 76.49+ 4.72) X

Appendix IV

			(Rs.	Million)
Fiscal year	(Y) Sales	Deviation from (2060/61) (X)	XY	X^2
2057/58	114.31	-3	-342.93	9
2058/59	81.56	-2	-163.12	4
2059/60	60.11	-1	-60.11	1
2060/61	66.21	0	0	0
2061/62	51.81	1	51.81	1
2062/63	50.26	2	100.52	4
2063/64	52.70	3	158.10	9
Total	∑Y=476.96	∑X=0	∑XY=-	$\Sigma X^2 = 28$
			255.73	

Table -29 Trend Analysis of Sales

The equation of straight line trend is given by

 $Y_c = a + bx$

Here,
$$a X - \frac{Y}{N} X \frac{476.96}{7} X 68.14$$

 $b = -\frac{XY}{X^2} X \frac{Z255.73}{28} X Z9.13$
 $Y_C = a + bx$

$$= 68.14 + (-9.13) X$$

APPENDIX V

TRIBHUWAN UNIVERSITY

Research Questionnaires for "cash estimation practices" of Nepal Drugs Limited.

Dear respondents, the answers of the following questions given by you will be used only for academic purpose and will be remained confidential.

Q1. What are the basic motives for holding cash in your organization? (Multiple answers are possible)

	Transaction Motives	
	Precautionary Motives	
	Speculative Motives	
Q2.	Does your organization use "cash buc Yes No	lgets"?
Q3.	If "yes" how often do you prepare a c a. Annually b. Semi-annually c. Monthly d. Weekly	eash budget?
Q4.	What methods do you follow to foreca. Cash Budget Methodb. Ratio Analysisc. Projected Balance-sheet Methodd. Mathematical models	ast your cash requirements?
Q5.	What policy does your organization f	follow in respect of sales?

a. Cash Sales

	b. Credit Salesc. Cash and Credit Sales
Q6.	Do your organizations maintain minimum cash balance? Yes No
Q7.	If yes, do your organization makes any changes in this balance? Yes No
Q8.	If yes, on what conditions and circumstances you maintain? a. Seasonal Fluctuation in sales b. To meet future contingencies c. Others
Q9.	If the cash balances of your organization exceeds minimum cash balance, do your Organization makes any investment of excess cash balance? Yes No
Q10.	If yes, on which assets investment is made? a. Buy T-bill or other securities b. Deposit at bank c. Use in business expansion d. Other
Q11.	What your organization will do if cash balance falls below its minimum cash balance? a. Sell of securities b. Bank borrowing c. Through inventory d. Others
Q12.	Does your organization follow any specific method for cash collection? Yes No
Q13.	What major problems your organization is currently facing while managing the Cash? Problems a. Excess cash balance b. Inadequate cash balance c. Problem of effective utilization of cash

	d. Ot	her				
Q14.		your organiz etermining op Yes			or certain m	ethods or models
Q15.	Do yo	ou have unifo Yes	orm terms of		ved to custo	mers?
Q16.	Do yo	ou have a pol Yes	icy of charg	ing interest No	on delayed	payments?
Q17.	Does paym	• •	ation offer c	ash discour No	nt to the cus	tomers for early
Q18.	To What extent does your organization take advantage of cash discount offered by bank arrangement?					e of cash
		Always Rarely		Sometime Never	es	
Q19.	Is you dates	-	on able to dis	scharge all s No	short –term	liabilities on due
Q20.	What	are your sug	gestions to i	mprove cas	h collection	system?
	a.	Initiate Con	npromise			
	b.	Charging hi	gher rate of	interest		
	c.	Seek the hea	alth of collec	ction agent		
	d.	Any others				